24'3"

(RSP-4801SK+RC-52)

RSP-001-BUTTRESS)
10X

THIRD ANGLE PROJECTION

© <

DIMENSIONAL UNITS

FT-IN

ROYAL

SWIMMING POOLS

THIS INFORMATION CONTAINED IN THE

DRAWING IS THE SOLE PROPERTY OF ROYAL

SWIMMING POOLS, ANY REPRODUCTION IN
PART OR WHOLE WITHOUT THE WRITTEN

PERMISSION OF ROYAL SWIMMING POOLS IS

PROHIBITED.

DESCRIPTION

12" X 24' GRECIAN SIG

1X
a a a
RSP-3601-52
4x
Rl oo r ° a ofe r ° a i L r
-
L
12'3" TR :
i
L
° L ] o of e L o ] ofe L o ] ofe L
BRACE / HARDWARE OPTIONS
PART NUMBER DESCRIPTION QTY
DR-STKO1 STL BRC DRIVE STAKE (1 PIECE) 15
ITEM PART NO. DESCRIPTION QTY REBAR 3/8"D 18"L | REBAR, 3/8"DIA, 18"LEN 36
1 |RspP-4801-52 STL PNL 48" PLAIN (52" TALL) - 1 RIB 13 CRHEX0041 SCREW, SERRATED, HEX, 3/8-16, 2P 00
2 | RSP-4801SK+RC-52 STL PNL 48" PLAIN (52" TALL) - 1 RIB 1
NUTHEX0201 NUT, SERRATED, 3/8-16, zP 500
6 |RSP-3601-52 STL PNL 36" PLAIN (52" TALL) - 1 RIB
7 | sT-4508CR-52 CORNER 45 DEG 52H SCRHEX0041-45 SCREW, SERRATED, HEX, 3/8-24, 45 BENT 64
8 RSP-001-BUTTRESS BUTTRESS 10 SCRHEX102 SCREW, HEX TEK, #12 X 1.0", zP 100

SIZE

SCALE
NTS

SHEET
10F1

PART NO.

1224-GRECIAN-SIG

REV.

00




	1
	Drawing View2


